AP Calewlus AB Approx Aren (/{s:;fj Riemann Sums - Table

7 ‘
%) Ty = 3’_[1%) + 41[0-26)] (0-25) +-7’;[:F{o-1sj+ -P(as?](ﬂ-ZS') * g’[;% ) + £(0-15)] (0. 29)
+ 5 [flo.19) 4 £(1.0)] - (0-25)
d -z’_-(r'f)[l.o + 2(0.8) + 2(r3) +2(11) ¢ /-i?
L) ﬁ., — {T [-F[i.o) + f(0-15) + £(o0-5) + F/o-zsﬂ

=-'q[[,1, % 'Li  # LZ 3 a.sﬂ

)My = £(0.28)-(b.5) + F£lo.15)-(0.9)
= 0.5‘[0-8 + !.aj

2)“)7:‘ = é[{-'(o) H—“(#)]' ¢ + 4 [F{lf) +F(w)__j’-l?_ + % [-1"-(:5) +F(n)]-r + -,E[F(n)f{-’(zdj-j
=2[8+4] + c[t+e] v L[e+3] + 3[z+e]
DRy = £69)-3 + £(1)-1 + fl16)-1z + $(y)- 4
€3 + ((3) @)D + @)
)

2
Dlg=fl)2 + )2 + F(D-2 + £()-2 + £45)-10
= 2 (lzs + 3.y + 3.9 o143 o+ ILI.@]

b £'(s) = £~ (D _ 143~13.9

&E—Y .
e) Roe = Ff'“]’Ffo)z i4.&— |2.5
10~ 0 e
o i i
d) Jonc (cYdx = FF(,_—) ""CJ!o
= £(10) - (o)

IH4.&-12.5



4)‘1) T= t[RO+r(s)]-3 +’;L.[!2(:»9+R(5)J-Z + 4[r(o + o). 4 +4 [Rer(n)]-2
= ffloﬂfﬂ to[igri] o+ 2 [1z+15] + Lis+19]

Y RY4) 2 R(5)-R() _ [1-1¢
5-3 2

)

¢) Rol= R(1)- (g

It—o
=19 - zo
I
D3 +r'tn)dt
(3¢ + »(®) +¢]/o”
[-33 + E(UJJ - [o + {Z[O)J
Bz+19] - [2a3







